[ number of missing inner layers |

1e - - - - —| Entries 1842
E ' Mean 0
r Std Dev 0
107 e
E Entries 1836
o Mean 0
o Std Dev_ 0
-2 |
10 3 Entnes 1830
E Mean 0
I . . . . . |Std Dev 0
10735_" . H . "‘{
o : : : : : Entries 1837
r Mean 0
10_4 Std Dev 0
-5
10°F
01059”" b b b b b b b by
= F &b ororb
x [
—
0.95

0051152253354455

[ number of missing outer layers |

1 —{ Entries 1842
E + | Mean 0
r SildDev. _ 0

107 S 1836!
E : Mean 0

1072

103

107

10°F

SRS SOV OO OO OV OO TOOE PO OO OV OO0

T [

o Eoo
1_

0.95L TSI
00511522533.544.55

=== DQM_NoFITZ_stepZ_tibar-phasel-newgeom

Entries 1842
Mean 3
Std Dev 0

H H H |
Entries 1836
Mean 3
S@l Dev 0
Entries 1830
Mpan 3
St Dev 0
Entries 1837

iy
TTTT] T

09005 1 15 2 25 3 35 4 45 5

= DQM_Fit2_step2_ttbar-phasel-newgeom
mean hi{ == DQM_Fit2AndCPEGeneric_step2_ttbar-phasel-newgeom
= DOM_Fit2AndCPETemplate_step2_ttbar-phasel-newgeom
- 5
0 E
> 4.5F
N -
2 LB
< E
v E
3.5F
3
2.5F
2F
1.5
1=
0.5
OJ_.\‘O_|||||||||||||||||||!||||!||||
3 E
o L H .
1 - ...q......... asasnadasas - - - -
0.95L : : : : : ]
=3 -2 -1 0 1 2 3
track n
[ N of simulated tracks vs pT |
Entries 13885
Mean 213
Std Dev 5.666
: I
Entries 13885
Mean 2.13
Std Dev 5.666
: I
Entries 13885
an 213
Dev 5.666
Entries 13885
Mean 2.13
Std Dev 5.666
3
10
TP p

track hits
[Nofreco track vs pT |
Entries 4646
I Mean 2.428
il Std Dev 24.62
T L St A ]
- Entries 4627
r Mean 2.436
_ Std Dev 24.67
10 2 E_ R T
E Entries 4621
o : Mean 2.438
= : td 24.69
10°F ; D |
F B | = |
C B Entries 4628
- B Mean 2.435
10—4 §_ Std D:cv 24.67
10°F :
QIOW N ; ;
= : ;
gL e
1_ = - o
0.95 '_1 : ; ,
10 1 10 10? 10
track p_



	Contents
	Page 1


